Math201.01, Quiz #3, Term 163
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1. [5 points] Find the local maximum and minimum values and saddle

points of
fG,y) =x%y +12x% - 8y.
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3. [6 points] Use Lagrange Multipliers to find the extreme values of
f(x,y) = x*y subject to the constraint x> + y% = 1.
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Math201.02, Quiz #3, Term 163

Serial #:

1. [6 points] Find the local maximum and minimum values and saddle
points of

fx,y) = x3 — 6xy + 8y3.
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2. [4 points] Find the volume of the solid below the plane z=1-—xand
above the region bounded by the curvesy = 1 —x? and y = 0
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3. [5 points] Use Lagrange Multipliers to find the extreme values of

ey = H + = subject to the constraint R
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